Week 9 Discussion

Wednesday, May 27, 2020 2:00 PM

Expanding Universe

$$\begin{cases} R(t) = \alpha(t) \cdot Y \\ P(t) = \beta i / \alpha^3 \rightarrow \beta i = \beta(t) \cdot \alpha^3 \end{cases}$$

$$M = \frac{4}{3}\pi (t) \cdot R(t) = \frac{4}{3}\pi P(t) \cdot a^{3}(t) \cdot r^{3}$$

$$=-\frac{4\pi G}{3} li \cdot \frac{r}{a^2} = a r$$

$$\Rightarrow 2\dot{a}\dot{a} = \frac{8\pi G}{3} \gamma(t) a(t) \dot{a}$$

$$a^3 \cdot (a^2) = -\frac{d}{dt} (a)$$

$$\Rightarrow \frac{1}{3t}(\dot{a}^2) = \frac{+8\pi G}{3} \cdot \rho_i \cdot \frac{1}{3t}(\dot{a})$$

$$\Rightarrow a^{2} = \frac{8\pi G}{3} \frac{f(x) \cdot d}{3} = \frac{8\pi G}{3} \frac{f(x)}{3} \cdot \frac{1}{R}$$

$$\Rightarrow \frac{(a)^{2}}{a} = \frac{1}{R} \frac{1}{R$$

$$\exists \int_{p}(t) = a(t) \cdot \int_{u}^{r} dr = a(t) \cdot r$$

$$\exists \frac{dp(t)}{dp} = \dot{a}(t) \cdot \gamma = \frac{\dot{a}}{a} \cdot a\gamma$$

$$v(t)$$

Use 1st law of thermodynamics

> "adiabetic" due to homogeniety.

$$\Rightarrow \frac{d(\rho c^2 a^3)}{dt} = -\rho \cdot \frac{da^3}{dt}$$

$$\Rightarrow c^{2}(\dot{\rho}a^{3}+\dot{\rho}\frac{da^{3}}{dt})=-\dot{P}\cdot\frac{da^{3}}{dt}$$

$$\Rightarrow \rho a^3 c^2 = -(P + \rho c^2) \frac{Ja^3}{Jt}$$

$$\Rightarrow \dot{\rho} = -\frac{(\rho + \rho c^2)}{\alpha^3 c^2} \cdot 3\alpha^2 \cdot \dot{\alpha}$$

$$=-3\left(\frac{\dot{a}}{a}\right)\left(\rho+\frac{\rho}{c^2}\right)$$

$$\frac{\partial}{\partial x} = -\frac{\partial}{\partial x} \left(\frac{\dot{a}}{a} \right) \left(\frac{\dot{a}}{a} \right$$

$$=) (m = -3 (\frac{\alpha}{\alpha})) = -3 (i\alpha^{-3} i\alpha^{-3})$$

$$\rightarrow \int_{m} \propto a^{-3}$$

$$= -\frac{1}{2}\left(\frac{\dot{a}}{a}\right) + \frac{4}{2}\left(\frac{1+3}{a}\right) = a^{-1}$$

$$= -4 \dot{a} \cdot c \cdot a^{-3}$$

Cosmological models

Dro ~ 8.4 x 10-5 Dmo ~ 0,3 200 ~ 0.7 Ho ~ 70 km/s.mpc log (Pco) radiation (Pco = 3Ho) -matter a(t) m (1+2)-1 amn = 0.113 Urm 1 => Zm=0.33 Arm=2.8×10-4